
Math 1         Name:   KEY 
   

Unit 4.3 More multiplication properties of exponents PRACTICE   Period: _____ 

 
Rewrite each expression using each base only once. 
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Simplify.  Write each answer in scientific notation. 
 
29. (5 × 107)2  30. (2 × 104)6  31. (9 × 10−12)2  32. (3 × 10−8)3 
 
 2.5 × 1015   6.4 × 1025   8.1 × 10−23   2.7 × 10−23 
 
33. (3.6 × 105)2  34. (9.3 × 10−6)−2  35. (1.7 × 10−8)3  36. (6.24 × 1013)3  
 
 1.296 × 1011  𝑎𝑏𝑜𝑢𝑡 1.16 × 1010   4.913 × 10−24  𝑎𝑏𝑜𝑢𝑡 2.4297 × 1041 
  



37. The radius of a cylinder is 5.4 × 106 cm.  The height of the cylinder is  2.5 ×  103 cm. 
 What is the volume of the cylinder?   (Hint:  𝑉 = 𝜋𝑟2ℎ) 
   
 𝑎𝑏𝑜𝑢𝑡 2.29 × 1017 𝑐𝑚3  
 
 
 
38. The side length of a square is 9.6 ×  105 in.  What is the area of the square? 
 
 9.216 × 1011 𝑖𝑛.2 
 
 
39. The side length of a cube is 3.78 × 103 ft.  What is the volume of the cube? 
 
 𝑎𝑏𝑜𝑢𝑡 5.401 × 1010 𝑓𝑡3 
 
 
Complete each equation. 
 
40. (𝑝4)    = 𝑝8   41. (𝑧    )6 = 𝑧−24   42. (𝑡12)    = 1 
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49. Writing   Is (𝑦𝑚)𝑛 =  (𝑦𝑛)𝑚 a true statement?  Explain your reasoning. 
 
 Yes,  they both equal 𝑦𝑚𝑛   
 
 
50. Reasoning   What is the difference between 𝑥4𝑥3 and (𝑥4)3?  Justify your answer. 
 
 𝑥4𝑥3 = 𝑥7  whereas  (𝑥4)3 = 𝑥12 
 
 
 
Simplify each expression. 
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